Notes 6-4

By definition, a rectangle has the following properties:
· All _______________________________________________________

· Opposite__________________________________________________


· Opposite __________________________________________________

· Consecutive _______________________________________________

· Diagonals _________________________________________________

· In addition, ________________________________________________


Theorem 6.13 Diagonals of a Rectangle
If a parallelogram is a __________________, then its __________________ are congruent.
Abbreviation ___________________________________________________
Example ______________________________________________________






 









Theorem 6.14 Diagonals of a Rectangle
[bookmark: _GoBack]If the ___________________ of a parallelogram are congruent, then the Parallelogram is a __________________.
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Some artists stretch their own canvas over wooden frames.This allows them to
customize the size of a canvas. In order to ensure that the frame is rectangular
before stretching the canvas, an artist measures the sides and the diagonals of the
frame.

If AB = 12 inches, BC = 35 inches, CD = 12 inches, DA = 35 inches,
BD = 37 inches, and AC = 37 inches, explain how an artist can be
sure that the frame is rectangular.

A - B
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Rectangles and Coordinate Geometry

Quadrilateral JKIM has vertices J(-2, 3), K(I,4), L(3,-2),and M(0,-3).

Determine whether JKIM is a rectangle by using the Distance Formula.
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Quadrilateral JKLM has vertices J(—10, 2), K(-8,-6), L(5,—3),and M(2, 5).

Determine whether JKLM is a rectangle by using the Slope Formula.
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rectangle n.
a quadrilateral with four right
angles
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A rectangular garden gate is reinforced with diagonal braces to prevent it
from sagging.

If JK = 12 feet,and LN = 6.5 feet, find KM.
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A rectangular park has tow walking paths as shown.
A.If TS = 120 meters, find PR.

B.If m£PRS = 64, find mZSQR.
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Quadrilateral RSTU is a rectangle. If mZRTU = 8x + 4 and mZSUR = 3x — 2.

Show how to find x.
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Quadrilateral JKLM is a rectangle. JP = 3y — 5 and MK = 5y + .

Show how to find y.
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